CHAMPIONSHIP JUMPING ROUND 2 - FAULTS THEN STYLE

STYLE E 277 284 295 317 340 293 255
TOTAL 0 20 0 8 4 4 4 24
FAULTS

JUDGE 1

RIDER. NO. 12 33 22 32 11 31 3 7

HORSE P R S Q R R Q P

MOVEMENT MARK |TOTAL [MARK |TOTAL |[MARK |TOTAL |MARK |TOTAL [MARK |TOTAL |MARK |TOTAL |MARK |TOTAL [MARK |TOTAL

1 6 6 6 6 7 7 6 6 6 6 6 6 5 5
2 0 6 6 6 6 6 6 6 6 7 7 7 7 5 5
3 0 7 7 7 7 7 7 7 7 7 7 6 6 5 5
4 0 6 6 6 6 8 8 8 8 7 7 5 5 6 6
5 0 7 7 6 6 5 5 7 7 8 8 7 7 6 6
6 0 6 6 7 7 6 6 8 8 6 6 7 7 6 6
7 0 6 6 8 8 5 5 9 9 8 8 4 4 7 7
8 0 4 4 6 6 6 6 7 7 8 8 8 8 7 7
9 0 7 7 6 6 5 5 6 6 7 7 8 8 5 5
10 0 6 6 6 6 7 7 7 7 7 7 8 8 5 5
A TOTAL 0 61 64 62 71 71 66 57
C1 0 6 18 7 21 6 18 8 24 8 24 7 21 6 18
Cc2 0 7 21 7 21 7 21 7 21 8 24 8 24 6 18
Cc3 0 7 14 7 14 7 14 7 14 9 18 7 14 5 10
c4 0 8 32 7 28 6 24 8 32 8 32 7 28 5 20

B TOTAL 0 85 84 77 91 98 87 66

STYLE MARK 0 146 148 139 162 169 153 123

FENCES 0 5 20 0 2 8 1 4 1 4 1 4 6 24

REFUSAL 0 0 0 0 0 0 0 0

OV. ST. MARK 0 126 148 131 158 165 149 99




JUDGE 2
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MARK |TOTAL |MARK |TOTAL |MARK |TOTAL |MARK |TOTAL |MARK |TOTAL |[MARK |TOTAL |MARK |TOTAL

126




